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QUESTION 1

Which of the following is true of managing scopes in the Integrated Solutions Console?
A. The node scope has precedence over all the scopes.

B. The cluster scope has precedence over all the scopes.

C. The application scope has precedence over all the scopes.

D. The network deployment scope has precedence over all the scopes.

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_9.0.0/
com.ibm.websphere.nd.multiplatform.doc/ae/rcon_scope.htmi

QUESTION 2

If an administrator dynamically generates a plugin-cfg file after setting up high availability automatic generation, what will
be the results?

A. The dynamic generation issues a propagation request.

B. The dynamic generation creates a second plugin-cfg file.

C. The dynamic generation overwrites the intelligent management settings.
D. An error message is shown that cannot be dynamically generated.
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/twve_haplugincfg.html

QUESTION 3

Which of the following is an allowed sharing policy in the cachespec.xml?
A. delete

B. replicate

C. syndicate

D. not-shared

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_9.0.0/
com.ibm.websphere.nd.multiplatform.doc/ae/rdyn_cachespec.html
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QUESTION 4

When creating a health policy, which condition should be selected to track requests that have a significantly decreased
response time?

A. Workload

B. Age-based

C. Storm drain

D. Excessive response time

Correct Answer: C

The Storm drain condition tracks requests that have a significantly decreased response time.

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/
ae/cwve_odhealth.html

QUESTION 5

Which statement describes an administrative request to start a server in a cell topology?
A. The admin application running on the node forwards the request.

B. The request is sent to the web server running on the node agent.

C. The request is sent to the admin service running on the node agent.

D. The admin service running on the application server forwards the request.

Correct Answer: D
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